
[image: image1.png]2. A geothermal power station is proposed that will extract power from a mass M
of hot rock of specific heat capacity C, and temperature T, by cooling it to temperture
Ty. The low-temperature reservoir is a large river at temperature T3. Calculate the
maximum quantity of electricity that could be produced if M = 108 kg (~ 10km?),
C=103Jkg ' K1, T} = 600°C, T = 100°C and T3 = 20°C. Roughly how long would
a nuclear power station have to operate to produce the same amount of electricity?
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